
                              
 

 BATTERY PACK HOLDER (TL5500) 
 

ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile 

 

 

 

 

 

 

 

 



                              
 

 BATTERY PACK HOLDER (TL5500) 
 

ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile 

 

 

 

Item Parte Ref. No. Descripción Unit Precio（CLP) 

1 50170-56000-000 Tip-Over Sensor Pcs  $     17.000  

2 10796-56000-000 Clamp Plate (M6) Pcs  $      3.500  

3 10441-56000-000 Screw GB/T70.2（M6*16) Pcs  $      3.500  

4 43091-56C0Z-000 Battery Pack Holder Front Fender Pcs  $     31.500  

5 10438-56000-000 Screw GB/T70.2（M6*10) Pcs  $      3.500  

6 10471-56000-000 Screw GB/T70.3-2000（M5*10) Pcs  $      3.500  

7 12291-56000-000 Battery Pack Bottom Support Silica Gel Mat Pcs  $      4.500  

8 42092-56001-000 Battery Pack Bottom Plastic Support Pcs  $      5.600  

9 10440-56000-000 Screw GB/T70.2（M6*14) Pcs  $      3.500  

10 43071-56C00-000 Battery Bracket Pcs  $     80.500  

 


